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SECTION -1
MATHEMATICS & SCIENCE

Which of the following is not a colligative
property ?
(A) Optical activity

(8) Elevation in boiling point

(©) Depression in freezing point

(D) Relative lowering in vapour pressure

If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
(A)4:7 (8)7:8

©5:4 ©)6:7

In 3 single throw of three dice, the
probability of getting a total of 5

A 1 B8 5
36 108

© 5 o 1
216 216

If "P.="P_,and nCr=nC then the

valuesof nandr
(AAn=2,r=3
©An=3,r=2

r+1’

B)n=5,r=4
P)n=4,r=5

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

(A —E, ) E,

© 2E, © 15E,

UL |
it gd fasme

Pr=frfaa % & apiard o a# # -
W gmrda fardferan

(B) GqerAidh &I =1+

© fRuid &1 AaTHA

(0) qruqgrg &1 amféd AT

WA oftdl§ & a1 @) gefi & g W
60° AR 75° & P g7 § A I oA

o Broamsit &1 U B -

A 4 : 7 B 7 :8
€© 5 :4 (b) g : 7
- A9 9 & (dd SBId H A AT 5
A @ wfiwar BRf -
(A) 1 (B) e
36 108
(€ 5 (D)
216 216
| "P, T "¢ ="c, 13\' n
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10.

The molarity of pure water is (density of
water =1 gm )

(A) 66.66 M
() 44.4 M

(8) 55.55 M
(D) 45,55 M

The half-life period for a zero order reaction
is equal to

(A) 2K

8) 0.693

Al KIAl,
© [A], ©) 0.693
2K K

The nucleus resulting from 238U after
92

successive emission of two q-particles and
four B-particles is

(A 230 (8) 23
coTh 2V

© 230 (d) 230
L ggha

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is § Their equivalent focal

length is 30 cm. What are their individual
focal lengths in cm ?

(A) -15, 10
(©) -75, 50

(8) -10, 15
(D) 75, 50
If a body loses half of its velocity on

penetrating 3 ¢cm in a wooden block, then
how much will it penetrate more before

10.

Y& Sl B Aol & (T BT ARG = 1
am -1

(A) 66.66 M (B) 5555 M
© 444 M (D) 45,55 M
U @R @ affim % forg o a1
Hlel quay § -
W 2K ® 0693
(Al K[Al,
©  [A], o) 0693
2K K

iiu A A T Td 9R B-®oli &
PHT IO & IRUTRIGSY a9 qrel
YD -

(A) 230 (B) 23
oo Th o2V
© 230 (d) 230
04 Pu 88 Ra

& S ol J49de o & G996 § ¢ |
O wew gRA S s @
aReTo gélsﬂaﬁmm'«;ﬂ
30 W B | FIH ST B &
Rk | A i
(A) 15, 10

(© -75, 50

(B) —10, 15
(b) 75, 50
I TP oy dFS F [P THS W

3
W AT F oomr 9 @ d R, A ouw
fFm dR I = AR

} i
|

1 i
1 il
{ - -

coming to rest ? faRmrawen § a7 9w 2
(A) 3cm (B) 4cm (A) 3 cm (B 4 cm
(© 1cm (D) 2 cm © 1cm P) 2 cm
Page:3 622208




1. A small metal ball is suspended in an "
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it
(A) The ball will not deflected at all.

(8) The ball will be deflected opposite to the
direction of field.

(©) The ball will be deflected in the direction
of field.

(0) The ball will move to infinity.

12 Root of the equation 3x2 4+ 7ix+ 6=0 12.
w _. 3. (8) 2
3i,-1 2i,=1i
2 3
(@) .2 (D) 3i, 2i
—31,51

13. A bomb of mass 9 kg explodes into 2 pieces | 13.

of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kg is

(A) 1.92 Joule
(C) 2.92 Joule

(8) 9.6 Joule
(D) 3.84 Joule

14. A particle is projected at

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

60° to the|14

maﬁwvﬁ‘é’lﬁzm_
mﬂwf&qaéaﬁm
arcﬁ‘éluﬁrwa—cawﬁa%x-ray

g de &= @ fen & fdfa g
(©) g o W delt gt |

GEIEa] 3x2+7ix+6=0 P
2 -
w _. 3, ® _ 2,
311 2i,—1
2 3
(€) 2 (D) 3i. 2j
—3i,§i 3i, 2i

kg FEE 7T TH a9 R F €9
kg 3% 6 kg ¥ < gHSI | Jel © |
kg S B 4T 1.6 WAL B 1 6 kg

Tt FU K RS wett @ 8RS W 60°

T ® vAfE frar Srar ®, @ ST
ffg w wfas ot B -

A) K
gl ® K (A K @ K
4 2 2 E
(©
zero (0) K © o) K
Page: 4
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15. The work done in placing a charge of |15 100 WEHIRE aRar & JuRT A
8 X 1078 Coulomb on a capacitor of 8 x 10-1® P BT QY @A F B
capacity 100 microfarad is HET BT -
(A) 16 X 10732 Joule A 16 x 10732 o
(8) 3.1 x 1072° Joule (8)

31 x 10726 Vo
© 4 x 1071° Joule (© )

4 x 10710 VoI
® 32 x 10732 Joule

©) 32 x 10-32

-

6. In what ratio does the point (-4, 6) divide|16. Q1 fd=gaif A(-6, 10) =1 B(3, -8) &'

the line segment joining the points A(-6, 10) I I YEEE P ﬁﬁ (-4, 6) f&a
and B(3, -8) ? '

U H qrem -
(A)4:9 (8) 2:7
(A) 4 : 9 (B) 2 : 7
(€ 3:7 (D) 4:5
© 3:7 D) 4 : 5
7 Ina AABC,AB= 6y3cm AC=12cmand |7 T ST aABC #. AB = 4y3 ¥,
BC =6 cm, then the angle B is AC = 12 9 9T BC = 6 9# & ar
(A) 90° () 60° DI B BT A 8RN
(© 120° (D) 45° e 29 - o3
(@ 120° - (D) 45°
1. Which of the following does not have a1 fyHfoReg # ¥ frad arg-eEdw da ==&
metal carbon bond ? g2
A Ni(CO), (8) C,HcMg Br (AINi(CO), (8) C,H Mg Br
@ K[Pt(C,H,)Cl3] (® AI(OC,Hs)s (@ K[Pt(C,H,)Cl3] (MAI(OC,Hs)s

19.

If x =3—2yZ then x?+ Zwillbe ARy =3z A k24 W

(A) 34 (8) 36 HHE B -
(© 24 (D) 30 (A) 34 (B) 36
(©) 24 (D) 30

lllﬂll I| || lﬁlm - i



20.

21.

CHy-CH- L
IUPAC name of  ° | th, 5 0CaHs

OH
is
(A) 1-Ethoxy propan-2-ol
() 3-Ethoxy propan-1-ol
(©) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone
A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and

connected to the mains. Which bulb will
glow brighter ?

(A) Both will glow with same brightness
(8) 25 watt bulb
() 100 watt bulb

(D) First 25 watt bulb and then 100 watt
bulb

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at x = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
(A) 40 cm (B) 45 cm

(€) 30 cm (D) 50 cm

If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

2. CH, —ClH-CHz ~OC,Hs

21.

23.

@l [JUPAC 9™
OH

3\) QTR A-2-3ffct
(8) 3-yureRft WUH-1-3ifct
(©) gelfRlt T

() 2-grSgiaRN-3-4cAr

25 qIc -220 dicc BT TP dod DI 100
gre —220 diee & §UR dod A ANHH H

Sisek 7@ Reg ([ wER) @ S
ST & | P9 9T ded 3ifrd gHeb 2
(A) BN god THNE THGI |

(B) 25 qTc &I §oF
(©) 100 9T &T gcd

(D) gt 25 gic &I 9od Y 100 dIC T
Gr|

A g -318 |, 300 gm & HA

fig ®, 500 gm @ x = 40 VT W
TAT 400 gm BT x = 70 T R W T
g ST goEE B oga R ¥ @
arfl -

(A) 40 I (8) 45 Y,

(© 30 4L (D) 50 ¥

TR TH g @ o 2 W A S A
deT B, ® HHER ¥ g0° W o WY

Brs fear ar ® | §f9 &1 N Uy W
fFream fig A ERT W) AT R/ ER 2

A /2 m/sec (®) V2 x9.8m/sec w7 AR B) /2x98 WAL
(©) 4.43 m/sec o) y (© 4.43 AR, © 1 #HRL
V2 V2
Page: 6
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24

25

27.

The length of the minute hand of a clock is

14 cm. The area swept by the minute hand
in S minutes.

W 154 ® 154
Ecm et GINY

(© 154 . (0) 154 .
m— T P CTNN
3 9

The value of x in the following series :
1+6+11+16+......+x =148

(A) 37
(€) 39

(8) 38
(D) 36

Nessler’s reagent is used for the detection of
(A) Ccyu2t (B) Na‘t

(© NH} () K*

Which of the following behaves both as
nucleophile as well as an electrophile ?

(A) CH,CN (8) CH,CHO

(© CH;0H (d) CH;CI

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(&) 6750 m2 (8) 5670 m?2

(© 7560 m? (P) 6570 m?

- Which ore contains both iron and copper ?

26.

27.

29,

UF gl w e arelt gf B aard 1
& | e atelt G & g0 5 e A
&Y By MU A B AABA BT -
(A 1;4 e (8) ﬂwﬂz

12 6
(c) 1~5—4ng (D) }_Eﬁw

3 9

frafoRaa oo % , &1 A9 B -

1+6+1+16+ ... + x = 148
(A) 37 (8) 38
(€ 39 (D) 36

TR ANGHE BT SGET Gl dTH B
ferg 2 =
(A) Cu2+

()  Nat

(@  NHf L

= % 4 o8 feed o

SO EE SNl B a¥E BT wRal £ 2
(A)  CH,CN (B) CH;CHO

(©  CH,0H (0)  CH,Cl

- UH Prpomer ¥q &1 qREe 450 ® @

qAT BT HOTI3N BT UG 13 : 12 : 5
2 | POTeR @9 7 &F%d ST -
(A 6750 (B) 56704

© 7560 ° (0) 6570 @°

T TP R W oleT a1 diar S F) &

(A) Chalcocite (8) Chalcopyrite (A) FrepITST (B)  YTePIURRISS
(©) Malachite (D) Cuprite (© Hdqrge (0) FguTEE
Page: 7 622208
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31.

Real value of x andy, if *=-1 3 y=1i =1
34+ 3—i

(A) -4, 6 (8) 7, -7

(©) -10, 12 (0) -2,5

The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is
(A) 1 (B)

(@ (D)

vl | N

3
5

If tanx + secx = /3,
0 < x <m, then xisequalto

such that

(A T (8) 2t
3 3
9 T (0) 5
6 6

The rate constant for the first order reaction
is 60 s~ 1. The time in which it reduce the

1th

16

concentration of the reactant to

value is
(A) 46 seconds

()46 x 102 seconds

(946 x 1072 seconds

(D) 2 seconds

31.

32.

33.

0. gfer X—1+Y_1=ia\[ XGﬁ?yfﬁT

341 3-1
qrefae w9 B -
(A) -4, 6 (8) 7, -7
© -0, 12 @) -2, 5

KMno4$H\fH‘f3ﬁ?T@Tﬁ\fm

ARIe & 1 Al A 3pefg ferga #
poier frar & forg amawas € -

(A) 1 (B) E
5
4
(c) E (D) 2 10
5 5
afe tanx+secx=\/—' e
0<x<m @ x B 79 8T -
(A T ()  2m
3 g
@ ™ (b) 5w
6 &

gfa
(W) 46 HvgH
B) 46 x 1073 dpugy

© 46 x 1072 dwugg
(O) 2 Jpogy

Page: 8



35

3r,

. Percentage errors in the measurements of

mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 2%

(€) 12%

(8) 10%
(D) 8%

In Friedel Crafts alkylation, besides A[Cl,,
the other reactants are

(A C¢Hg + NH;  (8) C.H, + CH,Cl
(© CgH¢ + CH;COCI

©) C¢Hg + CH,

A body cools from 80°C to 64°C in 5
minutes and same body cools from 80 °C
to 52° in 10 minutes. What is the

temperature of surroundings ?

(A) 22 °C (B) 28°C

(© 24°C () 25°C

The water droplets in free fall are spherical
due to

(A) Gravity

(€) Surface tension

(B) Viscosity

(D) Intermolecular attraction

- Which of the following is not a good

conductor ?
(A) NaCl (molten) (8) Cu metal

(© NaCl(aq) (®) NaCl(s)

WA AR A b WO W EATE 2%

AR 3% @ wferr e Ardt 1§ | gam
AR a1 & wigw Oy wfyw ot &

bl N FR B
(A) 2% (B) 10%
(€ 12% (D) 8%

%. WISl HIFC & Todlefldor ¥ AlCl, &

retTar AfYHRE ¢ -
(A CeHg + NH;  (B) C4H, 4 CH,C
(© Cg4Hg + CH;COC!

% Uh Y6 gooc @ g4°c db UL 5

e & 81 ® @ @& e ggec
¥ gooc 9P oV 10 fF e F Bar & |
JARAUTT & JIATERU BT 19 BRI -

(A  22°C (B)  28°C

© 24°C (D) 25°C
SARSEE T L CEZ U B - A

PR MATPR fhad SR Bdr & 2

(A) o (B) wgrelr

© gs §q

3. frafafed # ¥ BN W gade T8 € 2

(A) NaCl (fwer gon)
(€ NacCl(aq)

() Cu I
(D) NaCl(s)

Page: 9




3. At the magnetic poles of the ecarth, a

compass needle will be
(A) Vertical (8) Bent slightly

(€) Horizontal

(0) Inclined at 45° to the horizontal

The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m?.

Its volume will be

30

40.

qodfl ¥ grAd gai W UH TR P
e el -

(A) Featery

®) gom N FB g

(© A

(0) &yt A 450 WGP g

w M e B g Sud derd 4t
QAR | g Garg 3 W B | gaH
qR} aRY (GRaral ) d1 AEhd
108 2 & | KT U8 BT ST B

A 416 m? ® 216 m? (A 4164 B 216 4°
© 316 m3 ©) 206 m? © 3164 @ 2064
Page: 10




41.

42,

SECTION -1
PRINTING TECHNOLOGY

Padding is used while

(A) pressing the signature

(8) cutting the signature

(©) reducing the swell of signature

(0) pressing the signature and cutting the
signature both

If humidity is more than

AT - 1
N AR @1 s R o @
W) BEAER B 74 ¥ frg |

B) FTRNER ® FEw AdT FE ¥
forgl

€ FEER B Wit &7 3 ¥ forgl

(O) EXAER B Ga & forg don geaier
D BIECHY AT H & oIy, @i

, Deep- |42 3fy aydar A afe 2, @
etch plates damage. U39 e WRI9 B ot 2
(A) 60% () 65% (A) 60% (8) 65%
(€ 70% (D) 75% @ 70% (D) 759,

43 Italic types are 4. gerfel®d T3y & B § 2
(A) horizontal (8) slanted (A s (B fRBT
(©) upright (D) condensed (€ FHgfeR (®) ggfag

44. ‘Blanket’ is used in - “. eide BT RN BT -

(A) Laser printer (8) Offset printer (A R e § (B) affpde R q
(©) Inkjet printer (D) Thermal printer © IPpoe e § (D) i e &

45. The equipment used to measure the density | 45. T S & 99 =@ T ¥ forg
of printing ink, is called WIF {1 S ATl SUeRY HEerar &
(A) Densitometer (8) Crome gauge (A Sfgeries (B) P I
(©) Density gauge (D) Colour meter © I A9 (®) FoR-diex

46. 3D printingis : %. 3D BT g -

(A) 3-dye printing A) 3-grz fAfeT

(B) 3-direction printing (B) 3-grREH feT

(©) 3-dimensional printing © fefa fdfeT

(0) 3-dry-ink printing (b) 3-grE & MfeT
Page: 11
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47.

49,

51.

52.

Which type of scanner is used mainly in the |

publishing work ?
(A) Cylinder

(C) Laser

(8) Desktop Flat Bed

(D) Roller

Gumming solution is used for
(A)Both  ‘Increasing ink receptivity’
‘Increasing water receptivity’

and

(8) Cleaning the blanket cylinder
(©) Increasing water receptivity

(D) Increasing ink receptivity

For which Indian script, types were made
firstofall ?

(A) Marathi (B) Kannada

() Malayalam (D) Tamil

What metal is used for increasing the
hardness of copper ?
(A) Al-(Aluminium)

(©) Cr (Cromium)

() Zn (Zinc)

(D) Fe (lron)

The metal used for photo engraving is

(A) mercury (B) steel

(9 zinc (D) copper/brass

The thin paper used for preparing carbon
copies is called -
(A) Copy paper

(€) Thin sheet

(B) Duplicator

(D) Flimsy

48.

49.

50.

51.

52.

Wa;mﬁg@ﬂ?ﬁmmai
@ T '
(A) Rferve¥
8) wpeld T 48

(€) oISl
diiq Rferer sl foan Sl @ -

W e e qary % o |
\m—,ﬁmﬁmﬁﬁ$m'l

®) fpe Rifevex @ B & forg |
(© gt e gem & forg |
(0) =T wfear de™ & ferg |

fra WA fift & fog <rsw advem

(D) el

g1 Y A 2
(A RS (B) HTs
(© Herae™ (0) T

3 & PRI 9 & foIg P WA arg
&1 TART frar ar § ?

() Al-Uegfifrm) (B Zn-(Ri)
(©) Cr-EfE) (D) Fe-(ciTaN)
Bl AT ¥ WE 91g §
(A) HHY (8) et

© RNiw (D) grgT/diaet

FET IR R e & fau wged
el IS Heelldl & -

W T AR ) R
© R ¥ o) Rrerreh

53. Who invented the paper cutting machine ? |53 fFEe YR Hreq @7 TN &7 ISR
(A) Roger Payne (8) Crawley foar 2
(©) Wilson (D) Altus Manitus (A) IR T (B) TSt
(€ fawr (0) TeeRT wefew
Page: 12 62220¢
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ss. A systematic arrangement of pages by
numbers is known as
(A) Page layout (B) Page making

(©) Imposition layout (D) Graphic design

The iron press was started in
(A) England (B) Spain

(€) France (D) Germany

Which Rollers are supplying ink to the
printing plate in offset machine ?
(A) Ink Ductor Roller (B) Water form Roller

(€) Ink form Roller (D) Ink Distributor

57. What is PS plate ?

(A) Process surface plate
(B) Presensitized plate
(€) Pure solution plate

(D) Photographic screen plate

58. The blank printing unit for spacing is called
(A) road () quad
(€) prop (D) rack

59. Air conditioning improves the performance
of plate room because

(A) Due to Air conditioned room dust does
not affect the plate badly.

(8) It is very comfortable to worker.
(©) All of these

(D) It control the humidity and temperature
both which helps in developing.

54

55,

56.

59.

R FEd & ?

A AT d-amHe (B U7 AfHT

(O I o-3ee

@) fhe fesrga

AERA T B Yoo gg o -

() v F (8) W A

© wig (0) S #
e 799 § PF W At AT wie
P WE TgA § ?

(A) g Tdex eR (B) qreR B Ak
(€ 35 BM Aok (0) g fewieger
. e R/ 8 2

(A) IR IR @i

(8) FRiReEse we

(0 TR AREA @

(0) ®RIfhe i wc

AR &g <o BT gfe Feard 2 -
(A) s (B) FETS
© Wy (D) YH

W ¥H ¥ qrarggad 1 HAN Qe B

(A arargfrd @& 4 gd & 999 T A
q @i yHIfdq =& Bt ® |

(B) R & foIv I8 IRMEES T |

© gz adl

PiFg q9 #R M <Hr B FEla

ww_al & o f& fewm § gemar
AT © |

L
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61.

- Screen Printing method was introduced in
the year
(A) 1920 (8) 1904
(€) 1910 (D) 1894

What is the size of A4 paper ?

(A) 212 x 299 mm (B) 210 x 297 mm

(©) 230 x 297 mm (D) 220 x 480 mm

Which is the solvent used in lithography and
offset printing ?
(A) Chemical solvent (B) Lacquer solvent

(C) Printing ink (D) All

- Which one is advertising product ?

(A) Boxes (8) Envelopes
(©) Catalogue (D) Books
Who is said founder of ‘Modern-

Planographic printing’ ?
(A) John Gutenberg (B) Kelhein Stone

(€) None of these (D) Alois Senefelder

An American engineer named ‘Wilson’ have

invented

(A) Ruling machine  (B) Stitching machine

(€) Perforating machine
(D) Slide blade paper cutting machine

Consideration of pH factor is made

60

61.

62.

63.

65.

66.

wi fifer vEl g% g o
(A) 1920 (B) 1904
(© 1910 (0} 1894

A4 QG BT BRI

B
(A) 212 % 299 mm () 210 % 297 mm

(€ 330%297 mm (O) 520 » 480 mm

fyenma @ afeve AfET 7 fag
fRAdTad & JaTT Bl © ¢

() At fAdras

(B) oipx fdcra®d

(©) Hgor e (0) 4t

P a1 RS SdR & ?

(A) giFg (B) TeTq

(© FeTT (0) g

P SmfE T U B IS
HE Il B ?

(A) ST AT (B) BN W

© T ¥ PIg LI
(0) YA Hiiheex

FRFT TN RR e 3 @ o1 o
(A) wfeiTm w39 (B) <Timr welH

(© fogu 999

(0) IS =fs YR HfeT 730F

pH ®R& (pH Factor) Wewaqul &l &

M

66.
(A) In printing paper (B) In printing ink A BfeT v § B) RS 8 ¥
(©) In dampening solution © =7 f 3 ©) 7
(D) All of these
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| 67

71,

When printing surface is wetted with water,
then defect in printing is called
(A) Blinding (®) Scumming

(©) None of these (0) Swelling

The coating of plate is badly affected by
(A) Yellow light (8) White light

(c) Blue light (D) Green light

Which among the following is not a word
processor ?
(A) Corel write

{©) Microsoft Word

(8) Word perfect
(D) Ajax

In which printing process oil based printing
ink is required ?
(A) Offset printing

(8) Flexographic printing

(©) Screen printing

(D) Letter press printing

What do you mean by A.ILFEM.P. ?
{A) All Indian Film Making Partner
(8) None of these

(A All Internal
Production

Forums of Machine

(D) All India Federation of Master Printers

In negative or positive working process
precoated plates are known as
(A) Deep-etch plate

a7

69

70

4l

72

aa ffen wag aeft @ ofm o @ @
e ¥ g Ay wEerr & -
(A wqrgfadn (B) epfi

(© g} A d§ wrdl (0 w@fern
e w A wr arft efEn spnfaa

gt & -
(A Gt Ty g (B) g UbTIr G

© N ypre g (0 Y B A
frforfaa & & ®Y UH ad TR TE

g
(A) HR g (8) q& Thae
(0 WEghRITE 48 (P) AR

fog Rfer ufrar & da smnRa BT
W& & qaEhar & 2

(A) 3iipRre T
(B) Tt T
(© T BT (D) dex uw BT

ALFM.P. |1 ® ?
(A) i sfeaT fbew HfF=1 TR

(B) T q DI &

O FeFd B  Je  FWH
IR

(D)3 sf~ear B AH ARex et
TPRIHS I AORIHS PRIV A

gé—éﬁa@e’iﬁﬁmwﬁmm
?

(8) Pre-sensitized plate (A) -1g wic
(©) Wipeonplate (D) Bimetal plate 8 f-YReESS We
(€ 49137 3F We (0 qrved we
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73. What is the use of paper plates ?

74

75.

76.

(A) Printing on screen printing machine
(B)Printing  on  double

machines

colour offset

(€) Printing on metal printing machine
(D) Printing on small offset machines
What is ‘RIP’ in digital description ?
(A) Revolving Inking Process

(B) Revolving Image Projector

(©) Raster Image Processor

(D) None of these

‘Driers’ are mixed with printing ink for -
(A) For concentration

(8) Dry the ink after use
(©) Darken the ink

(D) For improving the brightness of printing

PowerPoint is an example of the following :
(A) Presentation graphics software

(B) Raster graphics software
(©) Gray-scale graphics software

(D) Photo management software

Chlorides are used in :
(A) Negative making

(B) Seasoning of papers
(C) Blanket cleaning

(D) Deep-etch plate making

A

|

73.

74.

75.

76.

TR W $ T /T8 2
W AfeT 99 w® Burg & forl

(B) PdpeR A AMNT W BIE &
forql

0 ¥eq ffeT 79 w® vu & fag |
@) B 3ifwRie 7 w® BUS & g |

feforea avfs & RIp <=1 & 2

(A) Rarfed T fpT

(B) Rarfedw AW Woigex

(0 IEI T IR

0 99 I B &

faf<T @ dy § @ive gerd R s
3

(A) Higor & forg |

® W W S uEE gE@e ¥
forw |

O T B Bl P F T |
(0) BUE & g9% qeM & frv |
UeR-wre feEfaad o1 Semew § -
W) ORI M iR
(8) IR Wby AiredeR

© I Mihe diredax

(0) BT Fioiie WiredR
FARISS &1 ¥4 BT § -

W frfeq sa= §

®) B & Worfr §

€ <dde A worE §

(®) S9-17 we T F
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s, Which plate is used commonly in newspaper
printing ?
(A) Pre-sensitised surface plate
(8) Wipe-on-plates

() Bimetal plates (D) None of these

o, Which is not a Book binding equipment ?
(A) Divider (B) Level Adjuster

() Hammer (D) Set square

30. ‘Squeegee’ is a equipment which is used as
(A) Pressing in offset printing

(8) Spreading ink in lithography
(c) None of these

(D) Spreading ink in screen printing

81. What is NIP Technology ?
(A) Newly Invented Printing

(8) Non-Impact Printing
(€) New Internal Process

(D) New Internal Programme

82. The use of ‘Whirler‘is for
(A) Drying the light sensitive coating on the
plate
(8) None of these

(C) For regulating the pH value of coating
solution

(D) Mixing
material

the light sensitive coating

% AEER-GEY @ ffen § urr e W

79.

80.

81.

82.

e W B § 2

() gd It IRBA ©c

(B) qT39-3i wicd

@ Rurg we (0) g1 ¥ P TEl
P AT IYHT Rrecarel B T © 2
A Rs (8) wifddt TeoeR
© geirer (D) oTF g PIUH

wdel e dar SuRw @ R wEd
foam <iram ® -

(A) gipde fifeT & gaE & fog |

(8) fredeme § W & A b ferwl

O T q B3 &

OIghe BT § W@ 31 $har
ferul '

NIP STl &1 B ?

() =gft graee BT

(8) Hi-zee W<

(0 < gTHEA qRN

(0) ¥ g WAH

SgUiE (Whirler) &1 ST fhar wiren &

(A) Y& Wded oY B W W JEH
$ forg |

®) g & DI T
(© A9 g &1 pH = A 4

O)yHrel dgd oY Ugrat P e H
fda o & forw |

LT
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83.

87

What is the correct ratio of wheat flour,
allum and copper sulphate in making paste ?
(A) 20:05:01 (8) 20:02:01

(© 10:02:02 (0) 10:02:01

In'a 20 M long row how many N of 8 point
type will be

(A) 30N (8) 6O N

(©) 40N (©) 20N

Six pica is equal to

(A) 0.5 cm (8) 0.5 inch

(© 1inch (D) 1 cm

The largest size of paper among the
following is

(A) Letter (B) Legal

(C) Ledger (D) Executive

What is manuscript ?
(A) Hand Written text (B) Printed sheet

(©) Write-up on photograph
(D) Various type faces

The “Acid” is used for Bimetalic plate making
(A) Lactic Acid (B) Nitric Acid

(©) Oxalic Acid (D) Hydrochloric Acid

Lithography means -
(A) Metal writing (B) Paper writing

(©) Stone writing (D) Plate writing

83

85.

86.

87.

88.

89.

agmﬁﬁm fﬁsz?ﬁﬁamqﬁmm

mar],vﬂ?

(A) 20 : 05 : 01 (B 20 :02: 0
€ 10 :02:02 (© 10 :02: o1
20 W ol df 8 W@IEC Trgy ¥
Fol fet T BN 2

(A 30 U (8) 60 U

(€ 40 U4 (D) 20 QY

o R fad auaw & 2

(A) 0.5 4. (8) 0.5 g

© 1359 (0) 1 {7,
fy=forRad # e 991 B ® -
(A) Jex (8) offrer

(@ oor (0) qaeiagdla
'ﬁ?’{ﬁﬁ@m‘%?

(A) gferRad cre (B) fies i
(© wrEIm ) fasme

) fafdy R & B
EACRIG we AHT d e ugwd

far < ® -

A) dffes s (B) \IRReH et
© IfFiferd 3t

(D) ETESQEAIRSG et
foremmer &1 e @ -

A oIy W oG (B) FET R AEd

© R ® @9 (D) We W) olgq

E
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Why a ruling machine is called disc ruling ?

(A) Discs are used for setting ink transfer
system.

(8) Discs are used for setting the conveying
tapes.

() Discs are used for making lines

(0) None of these

‘Ammonium Bichromate' is used for
(A) with ink (B) coating material

(©) making solvent (D) None of these

In making of ‘pulp’ which process is not
adapted ?

(A) Boiling in Digester
(8) Cutting of Raw material

(C) Beating process (D) Developing

operational
gathering machine is
(A) Arm and rotary

principle of section

(B) Lever and hopper

(©) Conveying belt (D) None of these

. Type writing through photo mechanics is

designated as
(A) Photo type setting (8) DTP

(©) Hot setting (D) Non-metal setting

W wefn af @ R wltr w1 wE

91.

92.

93.

LG
Nar® » wrrRa & b forg
e &1 yarm we §

®) R @1 Ay @A 20 @ A
& forg @ & |

© R & g ‘argd qa & fag
Q8

) g9y U PE e

PR argpre &1 yam fear ST @

A | & WA

B) AT Ugrd & w9 H

(0 Rere g9 # (0) g7 ¥ B8 72

T M F B @ wfear TE ot

W 2
(A) urEge A ST

(B) =g AT B Bl
© @ifey ufpar (O AP

A e g9 &1 WRaeq g
T _

(W) I T Jed (B) offer AR BW
© FARGFT qee O T A DY TR
Bl Abfe & WeEH § <Ry WIsfen
%1 yreu e w9 § 8 @

(A) HIE TRy Wi

(8) A

(© gfe dfT (0) FF-¥Ta AfeT
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9. Who uses first ‘Chemical Transfer Process’
(cTP)?
(A) Times of India Press
(8) Codak Limited Company
(©) Hindustan Press

(D) New York Times Press

Which is the correct steps in surface plate
process ?
(A) Cleaning - Graining - Coating - Exposure

(8) None of these are correct.
(©) Coating - Graining - Cleaning - Exposure

(D) Cleaning - Coating - Graining - Exposure

97. The primary memory of a computer that

store information temporarily is known as
(A) Random Access Memory

(8) Read Only Memory
(€) Permanent Memory

(D) Digital Memory

RGB stand for
(A) Red, Green, Black

(8) Raster, Graphic, Bench
(€) Red, Green, Blue

(D) Red, Green, Balance

The other name of Lithography is
(A) Planography () Flexography

(€) Straight Printing (D) Flat Printing

Which one is crown size of printing paper ?
(A) 20 x 15 inch (8) 17 x 13.5inch

(€) 22.5x17.5inch (D) 25x 20 inch

100.

JEmafye s ufear (@AR. ) @

way udvery faa fear 2
(A ergwr e gfsar 9w

®) msd for, e
(©) Regwr v
(0) =gt ergRr 9

ARG e ufpar § ud) w9 2
(A) qprg - AT - AU - ST
8) g A bg wE AE |

(© QuF - AT - TS - TG
(0) [qHTS - oA - AT - IR

ab

96.

FreR B WAE W S e w9
A FAFER R FReA & U PEl A

-g_
Yeu TR AR

97.

(A)
(8) s et FHNI
(©) rfl AARY

% RGB ¥ I &
W s, dH, <d
(8) IR<R, Ifhad, &9
© e, M, = O s, W, S0

(0) fefied AN

oo fITH BT I AW '
(A) RIS (B) GolRIITHI

0 we @ () wete fafeT
100, e quR @ WS WS BN W ' 2
(A) 20 x 15 9 (8) 47 x 13.5 39
(€ 22,5 x 17.5 39 (D) 25 x 20 39

A
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